T <Yt AR&D> R
5 ot o>~ i B BN (£ A BT | e A

[RHY] <FEZE >1/119.8 (1/1.86) <FEZE > 40 50.0% - LT 90.0% or 95.4% < TBHR > BFE R =0 @ /2+1 B /100+1 B < BEE >3&18583&186
[#E214L]) - <ETA>=300E§E#ETH -<FE>=100M3%

WY A7 - 1FE2FH{R & /2B RSk
[P B NN

WE R 2L

W E R R AT — - -4

BEEE - EBFa—EE

=
WS- D
W0 dmh ‘-
HEFEI@ (1/1.88) D o
WA AT °
o
DD

L <TAVA—EtEHE>

[RHY])( 7RvAh— : 6{# /10C)
BEAR---- 2401E
“WVIR+2R---- 1801{&
"V1R+5R---- 360{E
‘"V1IR+8R---- 540{#

CRVIRMESD)

o [EARO]
[FE#ESSaL—a] WA
<sERTAM= 5 B> <A
KOMTIS, NRSERLET. (RE [RHYD)

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




